Calculus BC: 4-1 Extreme Values of a Function
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Conclusion:
The absolute extrema for a function continuous on a closed interval will occur either at
the P AU orthe C = ‘L N points.
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Practice:

ASs e (4,4)
\°¢a-\ WAV (\‘-.\\

ik( *.

\2C-'\E\\ C )
C =4

. For g(x)=28-3x in xe[-1,2] )
a. Find the absolute max and absolute min points. »2.\- "l BEAN /\Q\Q
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2. Let f(x)=x’-6x*+9x and h(x)=4
a. Find thq)coordmates of the points common to f and /. '?-\ wi 5
Syt =
X - K-H = TR Q;\\ Q_\L\
\) v - & A =~y (x-q\ X\ 2
—\) \ by M " ( s
\ -5 2 || U 1. - L'-r X = \
\ (Y*-\\.k J“'L\\
b. If the domain of £ is xe[O,Z], what is the range of .
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3. Determine a, b, ¢, and d sothat f(x)=ax’ +bx*+cx+d has a point of inflection at

the origin and a relative max at the point (2,4). .
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